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Old vs. new J/psi data in J\yw—e*e-n® decay
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Old vs. new J/psi data in J/wy—e*en’ decay

5[ D —
i 104 B —e— QED Calculation b 105; —+— QED Calculation
% 10" g i 4 Experiment (Stat + syst errors) % 104 ™ o 2 ——— Experiment (Stat error only)
o m; T it : C ot T e F s v nh"*‘HHT
2102 Tl T T 5o L
-g- B L) ..'.‘4 # ‘e, E@ B 4l .ll." !
é“:""-- = L P . g 1 __ ™
.g 1+ 1 ® - ) :
‘0 _ @1.3 billion I/psi events © - @~3.5 billion J/psi events
l_ 10-2 — $ 10-2 -
= = L
) — S I o+
Z > —
T 10* | | an | | %10-4‘. I 5 1 1 T Y S Y
0 1 2 3 L 1 ey 022 3
m. .
m,.. (GeV/c?) ks (GEVIC)

2016/9/25 Group meeting 3




Old vs. new J/psi data in J\yw—e*e-n® decay
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Frum(q’) = Ei"»"’ffs(ci2 ,mp, [p)
Need to check whether the GS parameters can be floated during the fit or not?
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Old vs. new J/psi data in J\yw—e*e-n® decay
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Need to check whether the GS parameters can be floated during the fit or not?
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